Ol CrNo o |
A v O |IN N | TT
— | O KD KD |II
O |~ |a|a|—
O | D KD DD |~ 3
~ |— O O O |~ o |
U~ 1O DO |- | ale
O B T P I N 02 B R bR e Y
| | | &3
O | © |3 =
- oD 7|5 &'
= Qo C | |D o= 2
= D B ; = 5
= x < =, F= =
o - o N o
=
= = e S
L\ 55 — |30 1190 [138 601140 50 Trajnik zel O 100/100m SAN
=l N 2 =3
5 e = &
= mB =
SeleRgs |
~ 28 = 138.21 Telefon R
g3 . —
& I 138 10 Konalizacja D=200m._137.59  J[< - /
~ = 3804 Kanalizacjg D=200m,_137 47 | Nl |
U 2 :1. ~i 1 HI S8 00139 HIIL_ /oacmanie” 811 i |
. B
| T N
NS | Topel/ Wlyan 1137 401139 901 Nawier bk MTRKHA 110x37
..H B N 1 A il (187 At 159 1) mwiertko MIBKHA 11X/ /
— = = 13720 Kanalizacja D=160m,_137 65 > .
wo g
T
— | 570/ 1195 1135 901137 75| Nowiertka MIBKHA 110x32U
-~ = 135 83 Kanalizacja D=1A0m. 13610 [ -
g
o |z
..Ill— @ ) B X
ov | e/ Nyan 1435 381437 450 Nowjertka MIRKHA 140x3)
n =t 1] 1o LRIR IR AR wierika MIBKHA X5/
po S PR 13527 Kanalizacja D=160m._ 134 65 s "
Mu ™
Ty
. — | ge 0/ Syan 1135 00136 80 Nowiertio MIBKHA 1106300 *
I Y 134 9 Kanalizocja D=160m_135.25 > . \
{ =3 |CRaE AT 134 B3 65| Mowier tka MIRKHA {171 *
< 34 49 analjzac]a R=20 33 03 -
34 4h anatizacia J=Thl 34 04 .
! = edl =180 [134 300136 10| Nwiertka MIRKHA 110x32!
=
= IS
! — 71300/ Fygn 134 191435 05 Nawiertea MIBKHA 11032 +
o W
o = 123 94 Kanalizacja D= 160m._ 134 17 .
— st s/ SUan 1433 000435 700 Nowjer e MIBKHA X321
“ — =5 Ul 180 11353 #1an [ mwierika MIBKHA 11X/
— [T =
O W,
= -
{ Go |4728/ Li1an [133 800135 60 Nowiertka MTRKHA 110x30U %
w1337 Kanalizacjg D=6t 13622 (= T
4 — wﬂm 0 LV 55 781155 Al mwiertka MIRKHA 11{Ix 370 4
~ =
r 134 33 Kanalizacja D=160m._ 134 52 -
! — o3 \aen 1136 40136 20 Nawiertla MIBKHA 11063
o Wm
L 26 01 \[4 80 [134 65/136 45 Zoomonie 30°
=L
LY 237 5= N\|185 135 00/13 85 Zooomanie 90°
v
) @) = o
3 m o V& — |ommall S{oon |13 4513 45| Nowiertko MIBKHA 110x3U
D=3 B | _EZES =
5| 2 = 1%&m g e
A =z |2 2 g
=| ® | =0 3| - 13622 Kanalizacja D=200m._134 30
251238 |k £ |/:z
z| & | 28 s ./_ _
aNp e )2 g — Lomgal/ X[ton {136 0013 10l Trajnik zel Do 100/100m 5
= 2 | =8 =
= 2 | &2 e’
S | g | &2 e S
2 5|58 2 2
£ N = g a
£ 2 = Q S
oc w m, 3 @ - =]
SE|28| § 2 -
/ww mm 2. nnw
= -
A 28 g 2 w
ARSI =
D=




